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51. (C)  iatkc dh jktèkkuh paM+hx<+ ,oa osQjy dh fr:oauriqje gSA
52. (C) 5 v{kj ZEE TV

8 v{kj STAR PLUS

53. (B) 36  36 = 6 6 × 2 = 12

64  64 = 8  8 × 2 = 16

54. (A) A  M P N

B  O S R

++2 +3 4+1

R  S V M

S  U Y Q

++2 +3 4+1

55. (A) igyk 'kCn] nwljs dk foijhrkFkZd gSA

56. (A) 5 × 6 × 4 = 120 
120

2
= 60

4 × 6 × 2 = 48 
48

2
= 24

57. (D) 89 dks NksM+dj] vU; 11 ls iw.kZr% foHkkftr gSaA
58. (C) Rhythm dks NksM+dj] vU; esa dksbZ Ukk dksbZ Vowel gSA
59. (C) xzh"e oQks NksM+dj] vU; lIrkg osQ fnu gSA
60. (B) cSyxkM+h dks NksM+dj] vU; isVªksy ;k Mhty ls pyrs gSaA
61. (C) d.kZ dks NksM+dj] vU; jkek;.k osQ ik=k gSaA
62. (D) vU; lhih;w osQ Hkkx gS vkSj muosQ vanj ik;s tkrs gSaA
63. (A) v{kj E, B  osQ  foijhr gSA
64. (C)
65. (C) 5 × 8 + 4 = 44, 3 × 7 + 6 = 27, 6 × 6 + 4 = 40

8 × 3 + 6 = 30

66. (B) 18    9      13.5     27     

×0.5 ×1

67.5     

×1.5 ×2.5×2 ×3

+0.5 +0.5 +0.5 0.5 0.5

67. (B)
+2 +3 +5 +11

17    22        27     34     45     

+13

        ozQekxr vHkkT; la[;k,a

68. (B) 

×2 ×3 5

+1

12    72        288     1440     

+1

×

+1

69. (D)

+14 +28 56

×2

18    60        116     228     452

+

×2 ×2 ×2

70. (D) ;gk¡ 10 f=kHkqt gSaA
71. (C)

DELHI POLICE MOCK TEST – 17 (SOLUTION)

72. (B) 
crZu

dye

iwQy  1.  vlR;  2.  lR;

73. (A)

74. (C) vfuy dh iq=kh osQ firk dk firk  vfuy dk firk

vr% O;fDr vfuy osQ firk dk HkkbZ gSA

blfy, O;fDr vfuy dk pkpk gSA
75.(D) 36 +14 ÷ 7 – 3 × 9

= 36 + 2 – 27
= 38 – 27
= 11

76. (B)
12 8 2

4

 
= 48,

14 4 3

6

 
=  28, 

24 5 3

18

 
= 20

77. (A) 14 + 12 + 29 + 45 = 19 + 31 + 27 + 23
= 37 + 21 + 23 + 19 = 32 + 14 + 35 + 19

78. (B) 12 × 4 × 5 = 240 
240

10
= 24

  24 × 8 × 5 = 960
960

10
= 96

  38 × 5× 6 = 1140
1140

10
= 114

79. (D)

      

223     329      531      737     1141      1343    1747  1953     

            ozQekxr vHkkT; la[;k,a
80. (C) oxksZa dh la[;k = 32 + 22 + 1

            = 9 + 4 + 1
                  = 14

81. (B) 1 = One = 3 v{kj] 3 = Three = 5 v{kj]
   5 = Five = 4 v{kj] 6 = Six = 3 v{kj]
   7 = Seven = 5 v{kj] 11 = Eleven = 6 v{kj]

82. (D) S  T  A  T   I  O  N
   4  2  5   6  3  7   1

83. (A) mnop/mnop/mnop

84. (A) 5 2 1 3 4
85. (C) 10, 32, 43, 68

D    E    A    R

86. (D)  
16

0.9 1.6
25

  + 0.14

= 1.2 × 0.8 + 0.14
= 1.1
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87. (A) 66% =
66

100
,
3

5
=

60

100
,0.65=

65

150
,
16

25
=

64

100

vr% 66% lcls cM+k gSA
88. (B) ekuk fd iQyksa dh la[;k 100 gSA

100 dk 30% = 30, 100 – 30 = 70

70 dk 40% = 28, 70 – 28 = 42

42 dk 50% = 21, 42 – 21 = 21

isaQosQ x;s iQyksa dh la[;k = 28 + 21 = 49

                            =  49%

89. (C) xSyu dh {kerk = 403, 527, 589 dk e-l-
       = 31xSyu

90. (A) ekuk fd la[;k,a x rFkk (x + 2) gSA
iz'ukuqlkj]

x (x + 2) = 7743

         x2 + 2x – 7743 = 0

       x2 + 89x – 87x – 7743 = 0

         x  (x + 89) – 87 (x + 89) = 0
         x  = 87

 cM+h la[;k = 87 + 2 = 89

91. (B) C = 120°, b = 60°, a = 120°

 
a c

b


 = 

120 120

60

  


= 4°

92. (A) oqQy NwV = – 20 – 10 + 
(–20 –10)

100



= – 28 = 28%

vafdr ewY; =
108 100

100 – 28


= 

108 100

72



                        = `150

93. (A) sin =
5

13
 tan =

5

12

2

2tan

1 – tan




= 2

5
2

12

5
1 –

12



 
  

=

10

12
25

1 –
144

= 
10 144

12 119
 = 

120

119

94. (A) foozQ; ewY; = 144 ×
100

90
× 

115

100

                 = 
144 115

90


= 8 × 23 = `184

95. (A) vHkh"V le; = 
8 –1

2 –1
× 5

        =  7 × 5 = 35 o"kZ

96. (B) x + 
1

x
 = 5,

2
1

x
x

 
  

= 25

  x2 + 2

1

x
+ 2 = 25

  x2 + 2

1

x
+ 2 – 4 = 21



2
1

–x
x

 
  

= 21 x – 
1

x
 = 21

97. (D)  varj = 

2

2

Pr

(100)
= 

2

2

2000 10

100


= ` 20

98. (B)
a b c

c

 
= 

3 4 7

7

 
= 2

99.(B)   

A + B  72       5
B + C  120     3
C + A  90       4

360

2(A +B +C)      = 12

  A + B + C = 
12

2
= 6 fnu

 vHkh"V le; = 
360

6 – 3
= 

360

3
= 120 fnu

100. (B) {ks=kiQy = 
1

2
× 8 × 6 = 24 lseh-2
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1. (C)
2. (A)
3. (D)
4. (A)
5. (A)
6. (C)
7. (A)
8. (D)
9. (C)
10. (D)
11. (C)
12. (B)
13. (C)
14. (B)
15. (A)
16. (C)
17. (D)
18.  (B)
19. (C)
20. (B)
21. (B)
22. (A)
23. (A)
24. (D)
25. (A)

26. (A)
27. (C)
28. (C)
29. (D)
30. (D)
31. (A)
32. (A)
33. (C)
34. (C)
35. (B)
36. (C)
37. (B)
38. (B)
39. (B)
40. (D)
41. (A)
42. (C)
43. (C)
44. (D)
45. (A)
46. (B)
47. (C)
48. (D)
49. (D)
50. (B)

51. (C)
52. (C)
53. (B)
54. (A)
55. (A)

56. (A)

57. (D)

58. (C)

59. (C)

60. (B)
61. (C)
62. (D)
63. (A)

64. (C)

65. (C)

66. (B)

67. (B)
68. (B)
69. (D)
70. (D)
71. (C)
72. (B)
73. (A)
74. (C)
75.  (D)

76. (B)
77. (A)
78. (B)
79. (D)
80. (C)
81. (B)
82. (D)
83. (A)
84. (A)
85. (C)
86. (D)
87. (A)

88. (B)

89. (C)
90. (A)
91. (B)
92. (A)
93. (A)
94. (A)

95. (A)

96. (B)
97. (D)

98. (B)

99. (B)

100.(B)

DELHI POLICE MOCK TEST – 17 (ANSWER KEY)

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Note:- Whatsapp with Mock Test No. and Question No. at 9560866063 for any of the doubts.

Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777


